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(e ST G H TAq T ST i1 -
Find the wrong term in the following number

series- IBPS PO PRE 2021

20 35 63 117 210 o1 e

350 02. 20
03. 35
04. 350

05. 210
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{19 T §adt | TTeld Ug T Bifor-
Find the wrong term in the following number series-
2071

2015

2023

2007

1815

IBPS PO PRE 2021

01. 1815
02. 2007
03. 2015
04. 2023
05. 2071
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M Teriad I § Tqar=e (=g (?) & T 9L TAT 1
HT TUIT?
What approximate value will come in place of question

mark (?) in the following questions? IBPS PO PRE 2021

403.6 T 29.73% + V1222 — 487 %1 3.09% =gl 190

02. 140
03. 165
04.170
05.175
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etertera oI § Israrae =g (?) % €19 9% AT 47 /14
ATTT?
What approximate value will come in place of question

mark (’?f) in the ﬂollowmg questions?
998 + 5 0f 662 + - 0f779 =7 IBPS PO PRE 2022

01. 520
02.570
03. 600
04. 690
05. 650
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6 T=rTehceeh 4 TEATIeh( 3T 3 FHTATAT FETThT H ° 6 TTT sl Teh qiH A
FATAT | STT-3TT Tehaet d¥g | AT o Tohdll & TTs T d | 3
ertehcdeh, 1 TEATT 3T 2 HTA AT TETIF gt ATgu?

A committee of six members is to be formed out of 6 doctors, 4
teachers and 3 office assistants, in how many different ways can it
be done if the committee should consists of 3 doctors, 1 teacher &
2 office assistant? < 02.240

03. 360
04. 420
05. 560
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T SATIT Sifehd o 9T 20% T & <7 & d13 20% T AqTH
FHTAT g1 I AT Sffohd T[T ol TTART Toha AT TTA9rd 7 FHLAT
AT qTieh A0 {Tohd Tod 9 12.5% il B & 6 a1a 39 19% T
ATH 9T Feh?

A trader earns a profit of 20% after giving a discount of 20%
on the marked price. How much apprrox. percemshowkEbex1
reduce his marked price so that he can get a profitpf %0
after giving a discount of-12:5% on the new markeg pripg?

03.
9.33%
04.7.5
%

05.
8.97%
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2 T AT B § %\ 5: 7 3l 5: 1 % (qTd | %Taﬁ'{m-rﬁaw‘rﬁrw
FaT A ¥ 37.5L =7 3 v BﬁZSLﬁr%‘WT CERECRE CﬁﬁWW%
ar aa= C | ITHT 3T & T ST AT AT 1?2

Two container A and B contains mixture of milk and water in the ratio of
5:7 and 5:1 respectively. If 37.5L mixture from container A and 25L
mixture from container B are taken out and mixed in container C then

what will be the ratio of water and milk in container (_8’3 Zg

03.3:2
04. 3:4
05. None of these
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T8 T % Sm ff'(l'f\rﬂlcl i, mq TS El?ra‘{ 11.11% 9

ZHTE! Ahdie & AT TEL FHTG!  (o10 FThgfg T % 70 872
Find the amount at the end of one year, if the rate of
interest is 11.11% compounded half yearly and the
compound interest for the 2nd half yearly is R§FAF® PRE 2022

s.100
02. Rs.650
03. Rs.550
04. Rs.700
05. None of these
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3.5 HiaT &t T aTel Teh A1 9Teh hl TS & AT 3T T
THT ST & 7O gl T T 6T AreTs 0.7 e g af T2 &7

ST STTq T (T2 H)

A circular park having radius 3.5 meter has a path of
uniform width around its perimeter. If width of path is 0.7

meter find area of path. (in m?)

01.
02.
03.
04.
05.

15.24
14.96
16.94
15.53
None of these
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FHTiad 32 @ AT aeqe & F7 G, [T o 9T st
 SRIEIECI I

Following bargraph shows the CP, SP and MP of four
articles.

cpP SP MP
mA B mC mD
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FE C I AT Jid9rd Tq

ENIER]
1200 F |qd the profit percent on
i article C. 966 02. 25%
03. 12.5%
04. 16.67%
05. 12%

cpP SP MP
mA mB mC mD
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FE] A TIT B &1 Tk HTY o g ATH TIa9rd

RTRT | ST =i |
1200 Find approximate profit percent takingartigle
.. A and B together. 966 02. 12%
03. 19%
04. 17%
05. 10%

cP SP MP
WA B mC ED
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FE] B 9T T e TAerd <t AT ATR T drieh 45% T ATH
SISEEERIR IR ED

What discount percent should be given on article Bofoagain

r fl r n f4 o) : 02. 9.125%
a profit percent o 5% 966 03 19 5%

04. 9.375%
05. 10.786%

cp SP MP
mA B mC mD
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T

e D 9T ATH TQ9rd TAT TE] B 9T F& TIA9rd T 3w ATq

Find,the difference between profit percent on article D to

discount percent on article B. 01.

ot 02.
03.
04.
05.

966

cP SP MP
mA mB mC mD

15%
20%
25%
12.5%
8.33%



1200

cpP
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Tl & I ATH TTqerd 38T Igad 872
On which article profit percent is

second highest?

SP
mA mB mC mD

MP

01.
02.
03.
04.
05.

A
B
C
D
\

one of these






